

نام و نام خانوادگی ریاضیات پاسخنامه تشریحی تکلیف شماره ۱۶ کلاس چهارم دبیرستان نام و نام خانوادگی

الف) $\cos 2x = 3 \sin x - 1 \rightarrow 1 + \cos 2x = 3 \sin x$
 $\rightarrow 2 \cos^2 x = 3 \sin x \rightarrow 2 \sin^2 x + 3 \sin x - 2 = 0 \rightarrow \sin x = \frac{1}{2} \checkmark$
 $\rightarrow x = \left\{ 2k\pi + \frac{\pi}{6}, 2k\pi + \frac{5\pi}{6} \right\}$
 $\rightarrow \sin x = -\frac{1}{2}$ غلط
 ب) $2(\cos^2 x - 1) + \cos 2x - 2 = 0 \rightarrow 2 \cos^2 x + \cos 2x - 3 = 0 \rightarrow \cos 2x = 1 \checkmark$
 $\rightarrow \cos 2x = -\frac{3}{2}$ غلط
 $\rightarrow x = 2k\pi$

الف) $\sin^2(x) - \cos^2(x) = \sin^2(2x) \rightarrow \cos(2x) = \sin(2x) \rightarrow \sin\left(\frac{2x}{2} - 2x\right) = \sin\left(\frac{2x}{2}\right)$
 $\rightarrow 2x = 2k\pi + \frac{\pi}{2} - 2x \rightarrow 4x = 2k\pi + \frac{\pi}{2} \rightarrow x = \frac{k\pi}{2} + \frac{\pi}{4}$
 $\rightarrow 2x = 2k\pi + \pi - \frac{\pi}{2} + 2x \rightarrow 2x = 2k\pi - \frac{\pi}{2} \rightarrow x = k\pi - \frac{\pi}{4}$
 $\rightarrow x = \left\{ \frac{k\pi}{2} + \frac{\pi}{4}, k\pi - \frac{\pi}{4} \right\}$
 ب) $2(\cos^2 x + 3 \sin x \cos x) = \sin^2 x + \cos^2 x \rightarrow \cos^2 x - \sin^2 x + \sin 2x = 0 \rightarrow \cos 2x = -\sin 2x$
 $\rightarrow 2x = 2k\pi - \frac{\pi}{2} \rightarrow x = k\pi - \frac{\pi}{4}$

الف) $\frac{\cos x}{\sin x} (2 \cos x + 1) = \frac{1}{\sin x} \xrightarrow{\sin x \neq 0} \begin{cases} 2 \cos^2 x + \cos x - 1 = 0 \\ \cos x = 1 \rightarrow x = 2k\pi \end{cases}$
 $\rightarrow \cos x = -\frac{1}{2} \rightarrow x = 2k\pi \pm \frac{2\pi}{3}$
 ب) $2 \sin^2 x - \sin x (\cos x + \cos x) = 2 \cos^2 x + 3 \sin x \rightarrow \cos^2 x + \sin x (\cos x) = 0$
 $\rightarrow \cos x (\cos x + \sin x) = 0 \rightarrow \begin{cases} \cos x = 0 \rightarrow x = 2k\pi \pm \frac{\pi}{2} \\ \cos x = -\sin x \rightarrow x = k\pi - \frac{\pi}{4} \end{cases}$

الف) $\cos\left(\frac{\pi}{6} + x\right) \cos\left(\frac{\pi}{6} - x\right) = \frac{1}{4} \rightarrow \cos\left(\frac{\pi}{6} + x\right) \sin\left(\frac{\pi}{6} + x\right) = \frac{1}{4}$
 $\rightarrow \frac{1}{2} \sin\left(\frac{\pi}{3} + 2x\right) = \frac{1}{4} \rightarrow \sin\left(\frac{\pi}{3} + 2x\right) = \frac{1}{2} \rightarrow 2x = 2k\pi \pm \frac{\pi}{6} \rightarrow x = k\pi \pm \frac{\pi}{12}$
 ب) $\cos\left(2x - \frac{\pi}{4}\right) = \sin\left(-2x\right) \rightarrow \sin\left(\frac{\pi}{4} - 2x + \frac{\pi}{4}\right) = \sin\left(\frac{10\pi}{4} - 2x\right) = \sin\left(-2x\right)$
 $\rightarrow -2x = 2k\pi + \frac{10\pi}{4} - 2x \rightarrow -2x = 2k\pi + \frac{5\pi}{2} - 2x \rightarrow x = k\pi + \frac{5\pi}{4}$

$\frac{\sin 2x + \sin 2x}{\sin 2x} - \sin^2 x = \cos^2 x \rightarrow \frac{\sin 2x}{\sin 2x} + \frac{\sin 2x}{\sin 2x} = \cos^2 x + \sin^2 x = 1$

$\rightarrow \frac{\sin 2x}{\sin 2x} + 1 = 1 \rightarrow \frac{\sin 2x}{\sin 2x} = 0 \rightarrow \sin 2x = 0 \rightarrow 2x = k\pi \rightarrow x = \frac{k\pi}{2}$
 $\rightarrow x = k\pi \pm \frac{\pi}{2}$

$$\frac{\sin(\frac{x}{r})}{1 + \cos(\frac{x}{r})} = \frac{1}{\sin(\frac{x}{r})} + \frac{\cos(\frac{x}{r})}{\sin(\frac{x}{r})} \rightarrow \sin(\frac{x}{r})^r = 1 + r \cos(\frac{x}{r}) + \cos(\frac{x}{r})^r$$

$$\rightarrow 1 - \cos(\frac{x}{r})^r = 1 + r \cos(\frac{x}{r}) + \cos(\frac{x}{r})^r \rightarrow r \cos(\frac{x}{r}) + \cos(\frac{x}{r})^r = 0$$

$$\rightarrow \cos(\frac{x}{r})^r + \cos \frac{x}{r} = 0 \rightarrow \begin{cases} \cos \frac{x}{r} = 0 \rightarrow \frac{x}{r} = \frac{\pi}{2} + k\pi \rightarrow x = r(\frac{\pi}{2} + k\pi) \\ \cos \frac{x}{r} = -1 \rightarrow \frac{x}{r} = \pi + 2k\pi \rightarrow x = r(\pi + 2k\pi) \end{cases}$$

$$\cos yx^r - \sin^r yx \cos yx = \sin^r yx + \cos^r yx \rightarrow \sin^r yx + \sin^r yx \cos yx = 0$$

$$\rightarrow \sin yx^r (1 + \cos yx) = 0 \rightarrow \begin{cases} \sin yx = 0 \rightarrow yx = k\pi \\ \cos yx = -1 \rightarrow yx = \pi + 2k\pi \rightarrow yx = \frac{r\pi}{r} + \frac{\pi}{r} \end{cases}$$

$$\frac{1 - \frac{\sin x}{\cos x}}{1 + \frac{\sin x}{\cos x}} = \frac{\sin rx}{\cos rx} \rightarrow \frac{\cos x - \sin x}{\cos x + \sin x} \times \frac{(\cos x - \sin x)}{(\cos x - \sin x)} = \frac{\sin rx}{\cos rx} \times \frac{1}{1 - \sin^2 x}$$

$$\Rightarrow \frac{(\cos x)^r + (\sin x)^r - 2 \cos x \sin x}{\cos yx^r - \sin yx^r} = \frac{1 - \sin(rx)}{(\cos(rx))} = \frac{\sin rx}{\cos yx}$$

$$\rightarrow \cos yx - \sin rx \cos yx = \sin yx \cos yx \rightarrow \cos yx = \sin yx \rightarrow \sin(\frac{x}{r} - yx) = \sin(\frac{x}{r} + yx)$$

$$\rightarrow \frac{x}{r} - yx = \frac{x}{r} + yx + 2k\pi \rightarrow \frac{x}{r} - yx = \frac{x}{r} + yx \rightarrow yx = \frac{x}{r} + k\pi$$

$$\rightarrow \frac{x}{r} = yx + \frac{x}{r} + yx \rightarrow yx = \frac{x}{r} + k\pi \rightarrow yx = \frac{x}{r} + k\pi$$

$$\sqrt{1 + \sin rx} = \sqrt{\sin^2 yx + \cos^2 yx + 2 \sin yx \cos yx} = \sqrt{(\sin yx + \cos yx)^2} = |\sin yx + \cos yx|$$

$$\Rightarrow (\sin yx + \cos yx) = \sqrt{r} (\sin yx + \cos yx) / (\cos yx - \sin yx) \rightarrow 1 = \sqrt{r} (\cos yx - \sin yx)$$

$$\rightarrow 1 = \sqrt{r} \sqrt{2} \sin(yx - \frac{\pi}{4}) \rightarrow \sin(yx - \frac{\pi}{4}) = \frac{1}{\sqrt{2r}} \rightarrow yx - \frac{\pi}{4} = \frac{\pi}{4} + 2k\pi$$

$$\rightarrow yx = \frac{\pi}{2} + 2k\pi \rightarrow yx = \frac{\pi}{2} + 2k\pi$$

$$\sin^r yx - \cos^r yx = 1 \rightarrow -\cos(yx) = 1 \rightarrow \cos(yx) = -1 \rightarrow yx = \pi + 2k\pi \rightarrow yx = \pi + 2k\pi$$

$$\rightarrow \sin^r yx - \cos^r yx = -1 \rightarrow (\sin yx - \cos yx)^r + r \sin yx \cos yx (\sin yx - \cos yx)$$

$$\rightarrow -(\sin yx + \cos yx) = \sqrt{r} (\cos yx + \sin yx) / (\cos yx - \sin yx) \rightarrow -1 = \sqrt{r} \times (-\sqrt{2} \sin(yx + \frac{\pi}{4}))$$

$$\rightarrow \sin(yx + \frac{\pi}{4}) = \frac{1}{\sqrt{2r}} \rightarrow yx + \frac{\pi}{4} = \frac{\pi}{4} + 2k\pi \rightarrow yx = 2k\pi$$

$$\rightarrow yx = \frac{\pi}{4} + 2k\pi \rightarrow yx = \frac{\pi}{4} + 2k\pi$$